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1. Look at the food chain below. Write what they are below each picture and draw the

arrows
grass cow human
What is the producer? _ES3__ What is the prey? 0
What is the predator?_humnan
‘The grass is eaten by the cow.

Explain what is happening in the food chain above:
Then the cow is eaten by the human.

2 greenplants

Where do the green plants ge their energy from as a producer? ___ 1 Sun.

Why is the wild cat a predator?

Order and draw a bird, grasshopper and plant below info a food chain. Label them

producer or consumers:

plant | grasshopper | mmmp bird

producer consumer consumer
What would happen in the food chain if there were suddenly lofs mare birds?
If there were a lot more birds than there would not be as many grasshoppers. This is because more
birds will mean more grasshoppers are eaten. With less grasshoppers there would be more plants as
there would be less grasshoppers o cat them.





